KENDRIYA VIDYALAYA SANGATHAN (LUCKNOW REGION) FIRST SHIFT
HALF YEARLY EXAMINATION 2019-20
CLASS-XI (ECONOMICS)

Time allowed: 3 Hours Maximum Marks: 80

General instructions:

L]

@
1. All questions in both the sections are compulsory.
2. Q. No 110 10 and 18 to 27 are very short answer type questions carrying 1 marks each (word

limit-one word to one line)

3. Q.No 11 to 12 and 28 to 29 are short answer type questions carrying 3 marks each (word limit
60 words)

4. Q.No 13to 15 and 30 to 32 are also short answer type questions carrying 4 marks each (word

limit 70 words)

5. Q. No 16 to 17 and 33 to 34 are long answer type questions carrying 6 marks each (word limit

100 words)
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(Section A) '
1. PPC can be a straight line when 1
a) MRT is diminishing b) constant MRT
c)increasing MRT d) all of the above
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. Economic problem arises due to
*

a) scarcity of resources b) unlimited wants

C) resources can be put to alternative uses d) all of these

IS TR I~ AT ®

3 ) GETErAT Y Gel3TaT & HROT T ) 3ANTAT IaRIFATIHT F HROT

) gt & dFfoae yaieT & FRoT g)gAA A A

. What does the production point inside the production possibility curve indicate?

3CUTES HATAAT qeh & IHeT U IcaTeT fog F1 gohe Fa § 2

. When TU is maximum then MU is?

a) Zero b) increasing c) highest d) decreasing

m@mmmm;mmmmma
N @ T) T g ) AfoFHaA g)aehgs

. Law of demand does not apply in case of 1
a) Normal goods b) inferior goods c) giffen goods d) none of these

AT &1 I AR A8 Qrar ¥
3N) HT I3 7) et aEpit w
) PP ot o Z) 5 & FE

. Which of the followina naire ranracants substititea nnnde? a
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a) Carandpetrol  b) Coffee andtea  c) Bread and butter d) all of these
Rrrfafaa & & # @ S sy awgHt # aRfafc Fch §

31) R TG AT HFREIT T IT@AFEA &) FAA T TN

7. What is the shape of market demand curve? 1

AR AT a5 FT HFR FATRATE ?

Or¥yar

What will be the effect of increase in income on the demand for normal goods?
WA TEIHT Y AT IR AT F i T 41 73019 9397 ?

8. What does the movement on the same demand curve show? 1
3 ART T 9 HIAT AT IHe FATE 2

9. What is the shape of unitary elastic demand curve? 1
SIS & Qe AGGR AT a% FH HHR fFH THR 11 82

10. Why is demand for water inelastic? | 1
Id & RUAT IR T g?
11. What is law of diminishing marginal utility? 3
A SR I9far &1 AR Far g
Or ¥yar

Let MUx=20, Px=4, MUy=25 and Py=5. Is the consumer in a state of equilibrium, if MUm=5?
Give reasons.
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TR x T W e WA STTAT 20 & U1 X fY dvare 4 vaw ¥ v awe & wrea dvamed
sqRfaar

25 3T 3HR FrAa 5 TICE A Fe H WA 3TN 5 QO dr 2o A w1 IUMFA WA 6
fgfer & g 2 FROT TATEY|

12. Explain the relationship between TU & MU using a diagram. 3
gwsvﬂﬁmmﬁnmmﬁm#ﬂammﬁwﬁwwmmm

13. What are the three central problems of an economy? Why do they arise? 4

UF HqaEy 1 A AT FEEY a7 §7 I F4F 3cqe g & 2

14. Explain any four determinants of demand for commodity. 4

aﬁaﬁrmtﬁﬂimﬁuﬁmﬁmm|

15. 5% fall in the price of good raises its demand from 300 units to 318 units. Calculate its price
Elasticity of Demand. 4

aqﬁaﬁrmﬁswﬁ!mmmqrmﬁmmomﬂwsls BhTE &)Y AT & | AT Y
A &g H ot HfSw|

Or 3yar

Price elasticity of demand of a good is (-) 1. At a given price the consumer buys 60 units of the good. Ho

many units will the consumer buy if price falls by 10%?
Ry ey 1 #1T Y ova Wr () | ¥ | U R0 G P R swivrar v Y 60§ O A
af g F PrAd F 10 wfdrera $r A @ S § A ITHFAT Rl gepTEAT H FI 2

16. Explain the Properties of Indifference curve. 6
FAATA Tt A Rrdwansit £ sarea FFAT |

17. Explain the law of Variable Proportion with the help of schedule and diagram. 6

fm i sl AsEeAIARS Fmms-mnciam amsm AN Y] - (A
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Or AHYydar

Define production function. Distinguish between short and long run production functions.

mmﬁmm|mmmmm#mmﬂm;

PART-B
18. ---oomeeeee- --of data is the last stage of statistical study. 1
a) Presentation b) Analysis c) interpretation d) None of these
£ 21 2 S WA HeTTT T HIRAN TOT§ |

3) SEINEROT @) fvawor &) fAdue &) SR A IS Agr

19. When a researcher collects data from a newspaper it will be called 1
a) Primary data b) Secondary data  ¢) Complex data d) None of theses

19 S ATl TATAR I7 & HTH3T HT HAGOT AT & A @Y 38 gl SITea
3 IAF HiHs ) fadEE Hiws W) IRT HFS @) A I PEAG

20. Mention the type of facts not studied by statistics. 1
wif&ae # e TR & T2l 1 Heqas 78 fFar A seaw fifs |

21. What is the full form of NSSO? 1
U0, v, 30 & 9oT ¥ fAf@e |

22. A survey that includes all unit of population is known as
a) Sample b) Census c) Total d) None of these
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U FERTOT ForeY ST i wah 3Teat Y nfhe R Aty g&aror FEATATE |
3N 9RAZH @) FANOT /) FA &) FTH A P g
23. The frequency distribution of two variables is known as 1

a) Univariate Distribution
b) Bivariate Distribution

c) Multivariate Distribution
d) None of the above

&l T & IRIRET RAROT Y 39 71 A e &
¥) T TR 7) ZR AT 7) agaw Aewor &) swiwa 7 A #1877

Or3iyar

The class midpoint is equal to

a) The average of the upper class limit and the lower class limit
b) The product of upper class limit and the lower class limit

c) The ratio of the upper class limit and the lower class limit

d) None of the above

v 33t Aeafag W d

3) 359 a3 W ot AT a9 e & st & |
) 35T 3 HiAT v = 3t v & aoreTee & |
mmaﬂMmﬁmaﬁma:mm
Z)INFT A A RS a8t

24. Ogives can be helpful in locating graphically the
a) Mode b) Mean c) Median d) None of these

AROT & ZART Ao w7 3 Prar Hr RUFY S 37 el B

IN/C LIVEVYAM CAMAMIARastmm — oo mm \si I8\
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¥) qGEF q) AL 7) AfCIH 7) IGF F§ o

25. Mention the formula for the calculation of Mode from Mean and Median. 1

HTEY Td ATETehT § ageren A1 L 1 3 ford |

26. Write the mode of the following data.
farfdasst & ageT AT o

13,15, 16,18, 18,17, 17, 16, 15, 15

27. Name the measure of central tendency, in which items are arranged in in ascending or

descending order.

1

Fearg ygfed 1 380 AT H A Fraay #et a1 308 a1 37@08 F47 # cgafeya Frarsnarg |

28. State three importance of statistics.

HETHT & Agecd & i faig Rf@T |
Orjyar

Explain statistics in singular and plural sense.
WIETHIT FI Vo U4 Tgade # ARSI |
29. Calculate median from the following data.

AR st A ArfCaeT Fr aorar fifoe

X=25,14,18,37,12,18,8,26,13,15,24,19

30. Differentiate between Primary and Secondary data.
Wi gfadras Hiwst F Haw s fifdw |

31. What is the basis of classification?
FalfaroT &7 T U E?

Or Jyar

KVS-H Y EXAM-ECONOMICS-2019-20- X| - (7\

Scanned by CamScanner



Differentiate between inclusive and exclusive series.

H9FSit va FATM AW AT T AFAT |
32. Calculate mean from the following data. 4
fAifFa Jiwst & Area Jg Afde|
Class interval 0-5 5-15 15-20 20-30 30-40 ﬁ{
Frequency 1 2 3 3 1 j
33. Draw a pie diagram to represent the following medium of transport in a town. 6

U AE A IRae & fAw=ifrd anat A g & fw o a1 am s

Medium of transport | Private Vehicles Taxi Buses Auto-Rickshaw |
Number of Vehicles 4,200 2,000 1,800 2,000
34. Define mean, median and mode. State one merit and demerit of each., 6

m,nﬂhw@wﬁqﬁmﬁaﬁm|m#m$w§wu&wmml
Or3yar

Define median.Find the median for the following data

mwmm,mmm*rm#marmﬁml

X 0-10 10-20 20-30 30-40 40-50
f 3 4 2 7 9
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